* JLRITEBDSAICEEYMRITTEES,

* Adhesive rubber feet in cluded.

* ATYTNUFLRERDOMEBICEAETEEY.

* Stand handle location can be freely affixed within denoted range.

R AZ / Components

No. ¥ / Part name | 8 / Pcs #E / Material - RELEE / Color-Finish
1 ZAavkRIL 1 7 JLEHR A1050P ATFAVYNIN =T WAL, ATFTAVT F9IT NI
Front panel Aluminium A1050P Hairline brushed silver anodized , Hairline brushed black anodized
2 YT 1 7 ILEAR A1050P YN =T LRAL, 753997 WA
Rear panel Aluminium A1050P Silver anodized , Black anodized
3 HARIL—L 2 TV A6063S-T5 TV TIIEE
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
4 JAavkILb—L 2 TIVEHRH A A6063S-T5 TV-BE ThBE
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
5 YFIL—L4 2 TV A6063S-T5 YN=TFI3Ab
Rear frame Extruded aluminium A6063S-T5 Silver anodized
6 £#/3— / Top cover 1 $MHR SPCC / Steel SPCC AN V—F % |, 75y9B % / Light gray painted , Black painted
7 T 5H/3— / Bottom cover 1 $M4R SPCC / Steel SPCC 1ML & 7993 / Light gray painted , Black painted
8 a—F—Jnavy 2 FIEH ¥R ADCI2 U 7R
Corner block Diecast aluminium ADC12 Gray painted , Black painted
9 V724—k 2 BIAMEABSHIRE ULI4V-0 V=, 7399
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
10 T L2 / Rubber feet 4 R4 / Polyurethane 779 / Black
" HAFE R (M4 x 6 H5) 4 #% ={fiyns—+
Screw (M4 - 6 Countersunk) Steel Trivalent chromate
12 HAFTER (M4 x 8 +R) 8 % =ffni—+
Screw (M4 - 8 Pan head) Steel Trivalent chromate
13 EATE R (M4 x 10 781 UR) 4 % =f@Rsni-+
Screw (M4 - 10 Binding head) Steel Black trivalent chromate
14 RFYTNURIL 1 73’k - ABSHiliE UL94HB FAMV=, 759
J)yT  FILSHHH A6063S-T5 | VA=, 759
Stand handle Bracket : ABS UL94HB Light gray , Black
Grip : Extruded aluminium A6063S-T5 | Silver , Black
15 BEEF b / Slide nut 2 RUIFLY , §k / PE, Steel 7399 , =yl Av% / Black , Nickel plated

W79 =h)LT—% / Technical Datall

ATFYTNURILTHEIE / Stand handle Maximum load : 25kgf

44 (BFERKEDO) / Color type (End of product number[])

BREUINTFEMTE

TAKACHI ELECTRONI

w4/ Title

ICS ENCLOSURE CO., LTD.

ATFYTNIRIAFORT LT —2R
DESKTOP ENCLOSURE with STAND HANDLE

o]

iC5 / Code | /SR )L / Panel | £ F7/1/3— / Top - Bottom cover | #/FTL—L / Side frame | ATYF/\>F )L / Stand handle &/ Approved #[/ Checked SR/ Created E1%/Product number R/ Seale
G YIN'= / Silver 4M°V— / Light gray 9L~/ Gray ML~ , Yv'— / Light gray , Silver MSN66-32-23[1
B 7599 / Black 7599 / Black 7599 / Black 7399 , 7594 / Black , Black T (320 1/ 8
BS Y~/ Silver 7'99% / Black 7399 / Black 7399, 7°39% / Black , Black ER.E/Date  2017/09/06




B-B(1:45)

12.5

20

10

20

230

a1

——0

HARIL—L1 / Side framel

66

6.1

)7L —.s1 / Rear framel

A-A(1:45)

BH~ti% / Max dim. 205

Ak IL—.1 / Front framel

20.6

20.6

o—

]6‘/

HARKIL—L2 / Side frame2

A2 kIL—1s2 / Front frame2

C-C(1:45)

H#hti% / Max dim. 61

—

BH#~Hi% / Max dim. 299

1J72L—L2 / Rear frame2

I
=)
<

290

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

w4/ Title
ATFYTNIRIAFORT LT —2R
DESKTOP ENCLOSURE with STAND HANDLE

o]

SB/Approved | #2E/Checked | #.K/Created | ZU%/Product number RE/Scale
MSN66-32-23[1 1:45
e it 2/ 8
1R B /Date 2017/09/06




02 k/\RR)JL / Front panel

Bxh~Ti% / Max dim. 290

0

B# % / Max dim. 56

1J7/\42~)L / Rear panel

/N2 JLFRE/Panel Frontside

B ti% / Max dim. 290

{58 — Al

B—

Surface protective film side

NT A

SN~Ti% / Max dim. 49.5
|

=
X

ol

/N2~ )L IR M /Panel Frontside

Hairline brushed direction

{238 — Ml

Surface protective film side

203
2 = - + -
/N7~ )LE M /Panel Backside
208 5
13 - - -t -

I\NAJLEE/Panel Backside

BRASUINTFERTS

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

w4 /Title

2/ Approved

#&[X/Checked

£

#I[X]/Created

FH

pL=DIAE SR I2E 90 O]
Front panel , Rear panel
FF /Product number RE/Scale
H66 — W320 125
(B /Date  2017/09/06 8/ 8




70> Mal / Front side

Z0Mal / Front side

61

2-5

44

4-(4.5

197.5

117.5

2-4.2

53.5

2-M4

36
55
yp

hes —
1 — =
2 5 HARIL—L1 / Side framel

HARIL—L2 / Side frame2

am/Title
ERAGH) #stsnr @I | pqion i o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
752/ Approved #%[E/Checked R/ Created #42&/Product number RE/Seale
H66 - D230 1:25
£ Eaza) 48
1ERLH/Date 2017/09/06




30

293

re) o)
< L9
283
re) o)
< (9]

R4

20
==

2-M4AH SR
2-M4 Countersunk

ol
\o

TRV IL—LI1 / Front framel

Ol
O

A2 kI —12 / Front frame2

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
JaVkIL—L4

Front frame

o]

7R/ Approved

X/ Checked

T

X /Created

A

FIF /Product number

W320

RE/Scale
1:25

{ERL B /Date 2017/09/06




20

et

LY

[T
(44

M4

1J7 7L —1s1 / Rear framel

1J77L—1.2 / Rear frame2

G/ Title
TAKACHI) #XaitanFE@TE YFIL—Ls O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
A2/ Approved #&[X/Checked #[X/Created 1% /Product number RE/Scale
W320 1:25
£ Eaza)
fFAE/Date  2017/09/06 6/ 8




6.75

1.5

199.5

pum—

289.5

316.5

IR0

H3h+ti% / Max dim. 299

R4.5

EH#hti% / Max dim. 1675

12

234

40

30

6.5

fh/Title
B anTBRTE s o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
A2/ Approved %[/ Checked #[/Created 1% /Product number RIE/Seale
W320 - D230 '3
I B4t ;s
{ER B /Date 2017/09/06




6.75

1.5

199.5

~—

289.5

316.5

R4.5

15.5

HZ~T% / Max dim. 167.5

AH#h~T% / Max dim. 299

12

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
Thi—

Bottom cover

o]

7R/ Approved

X/ Checked

T

X /Created

A

FIF /Product number

W320 - D230

RE/Scale
1:3

{ERL B /Date 2017/09/06




